Ml = 0l & AFESE EH Al A
2024 AT 20| LBHSIH EIIS
2 B
M E)|S A (LB THY/UBIE)
gelr B8 el (Crel: &)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
ESIE] 1,847,399 1,724,786 122,613
2|3 A (LD B/ ALEH) 1,227,195 1,136,263 9,932
218 22l 623,415 532,483 9,932
AR 2 xrae] 44,400 86,400 A42,000
201 L2 A 14,400 14,400 0
02 222 14,400 14,400 0
OAHE || 2,500,0002* 14! 2,500
OUgssxt 2Ll 2,000,000 *1CH 2,000
OFAX | 3,000,000+ 1CH 3,000
Ozt KA 2,500,0002!*1CH 2,500
OYES =X 12 A
1,000,000 *1CH 1,000
OF AL Yt | KA
200,000 * 12 2,400
OXCIME D45 s20F0| |
1,000,000+ 1CH 1,000
401 Al&HIL S 0HY] 30,000 70,000 A40,000
01 Al&H] 30,000 70,000 A40,000
OZ)ISHH=XIME HA S3FH| A
20,000,000 * 14! 20,000
OZJ|2 =& HH|ZA
10,000,000 %14 10,000
ERERERE 37,895 18,172 19,723
101 Q124 6,911 0 6,911
M IIHR22ISES 6,911 0 6,911
OBt H e ol 78,8802 % 124x80L 6,311
OstHge 22X 40 282
600,000 %14l 600
201 L2 A 20,550 9,350 11,200
01 AF222IHI 20,050 8,850 11,200
Otz 1= S 19,450
—EH=(52) 300,000 %5174 1,500
—Ri=2(51=) 150,000 %521} 750
—&gst 150,000 21«5 +27H 1,500
— 50,0002 5% * 17K 250
—XD|(oHH, H S, &)
40,0002 x5 *3H 600
— &3} 50,0002 %52+ 14 250
—gs2 50,0002 5% * 1K 250
—&stst 150, 00021 «5% 174 750
—dsrEd 50,0002 5% %14 250
— QIR OII2FA ZY, 124 2 U8
30,0004 x52 174 150
—&& 50024 *52 x5} 12 750




2M: 218
I Z)|IS A (LEISBHY/ UL )
telr 218 2l (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
=023 50024 *5Z x5+ 12 750
— 2SS 100,000 x5 = 1J}*12& 6,000
—JIEH S, IS, EASH S)
20,0002 %5 x1)1x12& 1,200
—E AR 2HAIH|(SHHIE )
3,0002+5H x5« 122 4,500
OFa2|2 AIRA HAD| AR
50,0002i% 12 600
02 222 500 500 0
Oz’ =TT 2y
100,000 +5CH+13] 500
206 THEH] 7,474 7,922 A48
01 x24I 7,474 7,922 A48
Ostyae|e &c3 e
10,000 *5Z+5H*43] 1,000
OMEEEZ £ D72 2,200
—PPELCH 40021%2,0000H 800
—=32 0t 7004%2,0000H 1,400
OBHHIY S Stattl & SR 4,274
—lge 1,72024%450 4 774
—EHOHH| 3,5002%1,000 £ 3,500
307 212+0|& 360 900 A540
0122 2 3=y 360 900 A540
OgHZel 23| 15,0002 x2S * 122 360
405 KHAHE SH 2,600 2,600
01 AU SEFSY| 2,600 0 2,600
Oxz2 ¢4 25| 7
2,000,000 1CH 2,000
Ozl g A=) Y
600,000 *1CH 600
ERIEEINEIE] 156,600 134,400 22,200
201 L2 A 156,600 134,400 22,200
02 222 156,600 134,400 22,200
OJ2(2oHs M3
7,00024%1,450S+ 128 121,800
O=2ots =2t 60,00024%1,450S%40/100 34,800
SHHZCCTVR Xl 22 4,000 4,000
201 L2 S 4,000 4,000
02 2229 4,000 4,000 0
OYHZCCTV &3
5,00020%500H Ax 122 3,000
OYHEECTV |24
50,0002 *507H A*40/100 1,000
ZEDAGIALY 107,215 76,526 30,689
101 Q124 49,695 48,486 1,209
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HH: 2GS A(YBBIUT/LBEE)

telr 218 2l (Ctol: ®M2l)
SN B SL(3) - MBAY - BaS Ofl st Gl RS2
04 JIFRI22ISES 49,695 48,486 1,209
OZNSTH| oY
78,880 Rx5%Hx 152 5,916
OZEs1EA A 12
78,8802 % 121502 11,832
OZ2H 2 HUEHD| oY
78,8805+ 102 +33] 11,832
OIESASAIY(XEX S 22|) ALY
78,8802 x9Z x5 %33 10,649
OQIA=NE 22HH| o8
78,8802 * 152 x8L! 9,466
201 L2 A 40,520 17,640 22,880
01 AFRZH2IHI 3,960 3,960 0
OZZE35IAA SX|22IH(HORE 1))
20,0002+ Ax 122 2,160
OZ2ZZEH & HHIYR
300,00024x32 %23 1,800
02 222 36,560 13,680 22,880
O2F3IHA Q2B (LT S)
40,00024+9H Ax13] 360
O2F35I&A 2323 10,800
—&JIes 70,0002 %94 Ax 128 7,560
—4 Bl=C AR
30,0002 *90H A * 12 3,240
OSZSHEA ALSTRAR|(HAAL &F L 44HI)
25,400
—2EFFA HOAL SE(OIMHREH L
OrAIH| A S)
5,000,000 474 2 20,000
—2E3EA X 22| 4]
200,00024%9IH A#33] 5,400
206 HEH] 17,000 10,400 6,600
01 X2l 17,000 10,400 6,600
Oelatz ) 29 ¢
B00RI*5,000=+33] 9,000
OQIAEMIA XAX| Z2IXHH e (=2, gy,
AT, 2 S) 1,000,000 124] 1,000
OZJ[Qalz2 ] ORIEY URAIE 7Y
3,000,000+ 14! 3,000
OT2H 2 Mg ZHD| IR (0IxY, LR S)
1,000,000 * 14! 1,000
OOFA3} THHHEHX RAALY 22 e
2,00024%1,500 3,000
218 =KL 29 18,125 18,125
201 B2 A 18,125 18,125 0
01 AF222IHI 3,120 3,120




2A:

=oli=

HE: EI|S AI(LLIBBH/ULIHEY)
&el SIS 2el CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OF0IXXIME ADE 2 HERY
200,000+ 122 2,400
OFQIXIXIHE =&KX
60,0002 %122 720
02 222 15,005 15,005 0
OFOIXXIHE ®I|Q3
1,200,00024* 122 14,400
OFQUXIXILE RA(TV) 223
5,400 122 65
OFQUXXIHE H24)| 2AelAS
35,0004 43] 140
OFCIRXIME W Mciz s
400,000 % 14! 400
ZOIRFRI | BHY & 224,240 182,240 42,000
201 LB A 3,000 3,000 0
03 BAF2 | 3,000 3,000 0
OFHASK SH AN 2
3,000,0002* 14! 3,000
204 Z 24| 3,600 3,600 0
02 SHALHHI 3,600 3,600
ONSEHE32a 100, 0002 x3% * 122 3,600
301 YeHEAS 217,640 175,640 42,000
07 S& - 0% - BHESEEAZ 201,800 159,800 42,000
OO0|&%=E 182,400
== 400,00024x30H* 122 144,000
—d0l=s 400, 0002 x30 24 *200% 24,000
—3|9 At
20,0002 %30 x23|« 12 14,400
OBtE =& 50,0002 %208 10,400
O0ISZ SalHl X
25,0002 %302 12 9,000
11 BAFAHIXIRZ 15,840 15,840 0
O2lgsiot £9| S F|o&AT 34
8,0002 00 * 122 8,640
OXIHZ AT Al L2001 24 & FAHH|
90,0004 x20H*23] 3,600
OXMAISK SH 02 DEg™ =X
1,200,00024%33] 3,600
EIEE R 30,940 12,620 18,320
201 L2 A 7,940 7,200 740
02 222 7,940 7,200 740
OEJ|512 2Z)| H2H|
15,00024*8A1 220 2,400
OZJ|5|2 AL SXIEH]
1,000,0002* 14! 1,000




2A:
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s
IS A(LBBIHT/Asta)

telr 218 2l (Crol: X 21)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OZ)|3/2 MotrER3
50,0002« 122 600
OZJ|5|2 etat2e|kt 3l
100,0002 %23 200
OZJ|3|2t AYAIN SSHUEA
600,000 %13 600
OZJ|3|2 AYAIE RHE)|ISHA
600,000 13 600
OZ)|5|2 ABAIE o S2FA
90,0004% 103 900
OZ)|3/2 MIIQHMEH 48
120,000+ 12 1,440
OZ)|5|2 2284H2 100,00024%23] 200
401 AlEHIZ 20 20,000 20,000
01 Al&H] 20,000 0 20,000
OZ)|5|2 SATH|IZAL
20,000,0002* 14! 20,000
405 KHAHE|EH 3,000 5,420 A2,420
01 AL SEF S| 3,000 5,420 A2,420
OCHg I o 1,000,00024*1CH 1,000
OAY ALz 22 2,000,000 1CH 2,000
AR FOIHOIALY 603,780 603,780 0
ARQ FOIHOIALY 603,780 603,780 0
401 AlEHIZ 20 603,780 603,780 0
01 Al&H] 600,000 600,000 0
OAFRD ZOIHOIAIA 600,000
—AtEiE] =2 2 U2 HUIZA
200, 0002 *150m 30,000
—0l=2] 42 2 A HH|ZAH
300, 00024%100m 30,000
—A2] HHE 2 AN BH|ZAL
300, 00024%100m 30,000
—=222| 2 2 AW HH|ZAH
200, 0002 * 140m 28,000
—2H12l s2 L A HH|ZA
300,0002*90m 27,000
—2H2el =2 2 Hi22 HUIBA
200, 00024%150m 30,000
—WE12| 01202 SHATH|IZA
250, 0002 *100m 25,000
—WER| =2 2 2 HH|ZA
200,00024*140m 28,000
—NS12] 0222 Gt% JHHIZ AL
600,000 *40m 24,000
—8H12] B2 L AFBIEH|Z AL
300, 0002 *100m 30,000




2M: 218
M 2|3 A (LLIDIHY/UBEIE)
BHelr A2 FOEAY CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
—tpp] =2 L Hi2 HHIZAH
300, 0002 *100m 30,000
—BHAIE| iS22 L AFE EUIZA
300, 0002 %100m 30,000
—HHAIRR| SRTE QU EAFHIBA
300, 0002 %100m 30,000
—Z2H2] 42 AX L SARRHIRAF
300, 0002 *100m 30,000
—E2e| 0F20r2 Hi42 &XIBAH
200, 0002 % 140m 28,000
—2HE| Hi$E AX L SETHIZA
300, 0002 %100m 30,000
—A712| 0202 Hi42 &XI2AH
200, 0002 *100m 20,000
—M22| AIHEY L Hi2 EXIBA
300, 0002 %120m 36,000
—ADHI(E82, M2l ) dt& =4
18,000,000 * 14! 18,000
— A2l D202 OtAR ML) R A
90, 0002 *400m 36,000
—ADHK| BHE S 2IZ2L2A
12,000,000 * 14! 12,000
—=22| 01202 OtAR MR |ZA
90,0002/ %200m 18,000
03 Al CHH 3,780 3,780 0
OARRZ FOIHAAA AlLRCHYI
3,780,0002* 14! 3,780
X SAZAHI(ZI1S) (DIEHIIEN 620,204 568,523 31.681
RIEEXSE] 434,384 421,603 12,781
JEEX=E] 434,384 421,603 12,781
101 QI24H] 434,384 421,603 12,781
01 B2 122,654 120,605 2,049
OAIIRI 224 (U BHR])
11,31921%232 36 A1 2Hx 12 112,466
OARIQZ2LY(FHAXIRA)
11,3192% 123 A| 2++300 10,188
03 BRE(RI|HL)22XE 2 311,730 300,998 10,732
Osrdzz|osel 311,730
=Jl=2=2 3,320,770 *5 X« 122 199,247
—d2+4 3,320, 7702 % 75%+50%*5 2 +23] 12,453
—ItE4y 10,320
- BH A 40,000 %53 x 122 2,400
- A THAHA 30,000 *5 X x 122 1,800
- SMAHSE 70,0002 *4H %12 3,360
- AU AHA 110,000+ 18122 1,320
- JIEDHE 200002162+ 122 1,440




2M: 218
M HHSAAH(EIIS)(JIEHIIE
£el: elsE23| (CHel: M 2l)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
—HESIH
3,320, 7702 *75%+B0%*5 2 x23] 14,944
— A2 2Rast
18,0744 % 150%*20 Al 252+ 122 32,534
—§2U225E
90,3702+ 150%+40 L *5%H 27,1m
—ARRSEIILY
142,589 x5Hx 17 12,121
-SSRy 50,000 x5% 128 3,000
=R 185,820 166,920 18,900
J1=ZH| 185,820 166,920 18,900
201 L2 A 80,570 73,170 7,400
01 AFRZ2IHI 46,950 42,930 4,020
O=AEX 7 20,0002 %258 A 122 6,000
OSZ0HAll| 8,000 +5A1 %053 x 122 12,000
Ogbte2 100,000 * 122 1,200
OARZ TARYH 50,00081% 12 600
OARL 24 9,600
—SAD(AE) e 500,0002*1.5CH 750
—IRIE 2 100,000 %5CH+50/100 250
—=AD| €4 200,0002%53]*1.5CH 1,500
—I2IE EL(EY)
200, 0002 %53 *5H 5,000
—TalE (e
200,000 %53+ 1CH 1,000
—PC =l 100, 000250120/ 100 500
—JIEt 2-2lH] 50,0002+ 12 600
OJIEF AFR22t2ld] 10,000 R *25 X x 122 3,000
O - =AY 14,550
—2X 60,0002 % 124119 7,140
—=% 30,0002 * 1247 7,410
02 2229 33,620 30,240 3,380
OZ) I SHAESXME ALAL BHE JISHA(42)
600,0002%13] 600
OZ)|ISHESXME AAIL SSHUFA(10Y)
600,000 13 600
OZ)ISHH=SXME ALAL | S2F2
90,0002 %103 900
OAIR4 I3 1,800,000« 122 21,600
O2ANeS RER3 400,000 128 4,800
ORMYs AKRE 10,00024*3CH+ 122 360
ONBlaEe3 80,000+ 122 960
ogtstee] 24| 180,000 * 128 2,160
OHFSIE HA 248 100,00024*23) 200




2AM:
X{XH -
o /e

cH):

=oli=
HY2AHHI(ZDI1S) (JIEHIIEN
Jl=3H|

SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OFI| oFMB2|HE 42
120,000 128 1,440
202 Ot 84,000 78,750 5,250
01 2LH0IH 84,000 78,750 5,250
OZ2Lioit| 20,0002 +25H x 122U+ 128 72,000
O2204d] 120, 0002 x2584 x4 2! 12,000
203 2EZIH| 12,600 12,600 0
01 J |22 AR 6,600 6,600
OSZ J|p2gex
6,600,000 1H 6,600
02 HAIIAIA LRI 1,200 1,200 0
OF A AREEIY] 40,0002+30H 1,200
04 ENSHAREZAI 4,800 4,800 0
ORNSZHRFEH| 400,0002 % 12& 4,800
204 Z 24| 2,400 2,400 0
01 ZHZ A4S AH| 2,400 2,400 0
OXHZ AR AY| 2,400
—= 150, 0004+ 1Hx 122 1,800
—-F58 50,0002+ 12128 600
405 KHAHE SH 6,250 0 6,250
01 AU SEFSY| 6,250 0 6,250
OMRPE 9Xt 7€ 250, 0002 %25} 6,250




